
K3VL28 with Cut-Off / Load Sense Control (Clockwise Rotation)

Inlet and outlet ports reversed for counter clockwise roation.

K3VL Series Axial Piston 
Pumps Catalog



Des. Port Name Port Size
Tightening

Torque (Nm)
Flange

Threads

A Delivery Port SAE J518C Std pressure (code 61) 3/4” 40 4-3/8-16UNC-2B x 18mm

B Suction Port SAE J518C Std pressure (code 61) 1 1/4” 60 4-7/16-14UNC-2B x 24mm

A Delivery Port SAE J518C Std pressure (code 61) 3/4” 57 M10 x 17

B Suction Port SAE J518C Std pressure (code 61) 1 1/4” 57 M10 x 17

Des. Port Name Port Size
Tightening

Torque (Nm)

Dr Drain Port (x2) 3/4-16UNF-2B-14.3 (ISO 11926-1:1995) 98

PL /PC

Load Sensing Port
Pressure Control Port

7/16-20UNF-2B-11 (ISO 11926-1:1995) 12

Tair Air Bleeder Port 7/16-20UNF-2B-11.5 (ISO 11926-1:1995) 12

a1 Gauge Port 7/16-20UNF-2B-11.5 (ISO 11926-1:1995) 12

Main SAE Flanged Ports

UNF Threaded Version (‘S’ in position 9 of model code)

Metric Version (‘M’ in position 9 of model code)

Auxillary Ports

SAE Version (‘S’ or ‘K’ in position 8 of model)

K3VL28 Porting Details



41

K3VL28 Shaft & Through Drive Options

Model Code Option ‘K’ Shaft Model Code Option ‘S’ Shaft 

Through Drive SAE ‘A’ 

Through Drive SAE ‘B’ 

M8-1.5

6
..3

5
.Ø

2
2

.2
2

 

2
4

..
 

28
33 

1
25

SAE J744-22-1
SAE B Straight Key

28

33

2
1

.8

SAE B 30° Involute Spline Shaft

106

4
5
°

4 - M10
Depth 1

SAE A 2 hole
SAE J744-82-2

SAE A 30° Involute Spline

2
8 

Ø
8

2
. .5

5
 

204

+
0

.0
3

5

4
5
°

146

4 - M12
Depth 20

SAE B 2 hole
SAE J744-101-2

224

8

48

SAE B 30° Involute Spline

Ø
1

0
1

..6
  

+
0

.0
3

5

41 41



K3VL PUMPS

3-1 K3VL28 Installation (cont)

K3VL28 Adaptor Kits

402

263

743

317

116

743

742

415

116

743

Cover Kit SAE “B” T/D KITSAE ‘A’ T/D Kit

Part Name Qty Cover Kit
SAE ‘A’
T/D Kit

SAE ‘B’
T/D Kit

T/D - 29L8TN 29L3TA 29L3TB

O-Ring 1 Item 743 Item 743 Item 743

O-Ring 1 - - Item 742

Screw Hex SHC 4 - - Item 415

Screw Hex SHC 2 Item 402 - -

Subplate 1 - - Item 317

Cover 1 Item 263 - -

Coupling 1 - Item 116 Item 116



K3VL45 with Cut-Off / Load Sense Control & Torque Limit Module
(Clockwise Rotation)

See Torque Limit Detail

and Adjustment

See Max. Flow Adjustment Detail

Adjustment screw for
horsepower setting

See Port

Adjustment screw for
differential pressure

Details

See Port
Details

Adjustment screw
for cut-off pressure

119

154

160

218

184

14.3

14.3

91

ø38
ø25

A

91

184

26.2 ±0.2

5
2

.4
 ±

0
.2

13

35.7 ±0.2

6
9

.8
 ±

0
.2

7
3

1
6

6 7
0

7
0

ø
9

0

1
4

44
0

4
0

8
0

8
0

9
98
9

5
5

6.5

Pl/Pc

Pl/Pc

Pl/Pc

PL/PcPl/Pc

Tair
Tair

4
5
°

4
5
° Dr

Dr

Dr

Dr

B

A

Dr

Dr

B

B

A

Note: for counter clockwise rotation, the inlet port ‘B’ and the delivery port ‘A’ are reversed.



K3VL PUMPS

K3VL45 Mounting Flange and Shaft Options

ø1
40

ø1
46

SAE "B" 2 hole
SAE J744-101-2

ISO 3019/2-G25N
Shaft end

SAE "BB" 30° Involute Spline Shaft
SAE J744-25-4 15T 16/32 DP

Flange
ISO 3019/2-100A2HW

9.7

53

38

19

38

SAE "BB" Straight Shaft
SAE J744-25-1

34

M8

25

42

36

M8

19
25

33

ø
2

4
.9

8
1

46

ø
1

0
1

.6
h

7
0 -0

.0
3

5

ø
1

0
0

h
8

0 -0
.0

5
4

ø
2

5
.4

0 -

6
.3

2
8

.1
 ±

0
.1

3

+
0

.0
3

0
.0

5

0

0
9.7 +0.5

  
2

8
0 -0

.3

ø
8

0 -0
.0

3
6

ø
2

5
+
0

.0
0

9
-0

.0
0

4

28
33

Ø
2

1
.8

0
6

SAE Type ISO Type

SAE “B” 30o Involute Spline Shaft
SAE J744-22-4 13T 16/32 DP 

SAE ‘BB’ Spline Shaft - Option 'S' SAE ‘BB’ Straight Shaft - Option 'K'

SAE ‘B’ Spline Shaft - Option 'T' ISO Straight Shaft - Option 'M'



K3VL45 Rear Port

PL/PC

ø25

ø38

PL/PC

SEE PORT DETAILS

K3VL45/B-1RR  S
In case of

S
K

119

24
pump rotating direction 8

(UNC screw)

8090
58 44

B
Dr

Tair

77
33

 

7
3

1
4

4

9
.2

88
99

 

222266

35.7±0.3

6
9

.8
±

0
.3

2
6

.2
±

0
.3

52.4±0.3

SEE PORT DETAILS

K3VL45 Porting Details

Des. Port Name Port Size
Tightening

Torque (Nm)
Flange

Threads

A Delivery Port SAE J518C Std pressure (code 61) 1” 57 ⅜-16UNC-2B x 18 mm

B Suction Port SAE J518C Std pressure (code 61) 1.5” 98 ½-13UNC-2B x 22 mm

A Delivery Port SAE J518C Std pressure (code 61) 1” 57 M10 x 17

B Suction Port SAE J518C Std pressure (code 61) 1.5” 98 M12 x 20

Des. Port Name Port Size
Tightening

Torque (Nm)

Dr Drain Port (x2) 3/4-16UNF-2B-14.3 (ISO11926-1:1995) 98

PL /PC

Load Sensing Port
Pressure Control Port

7/16-20UNF-2B-14 (ISO11926-1:1995) 
12

Tair Air Bleeder Port 7/16-20UNF-2B-14 (ISO11926-1:1995)  12

Dr Drain Port (x2) M22 x 1.5-14.5 DIN 3852 98

PL /PC

Load Sensing Port
Pressure Control Port

M14 x 1.5-12.5 DIN 3852 25

Tair Air Bleeder Port M14 x 1.5-12.5 DIN 3852 25

Main SAE Flanged Ports

UNF Threaded Version (‘S’ in position 9 of model code)

Metric Version (‘M’ in position 9 of model code)

Auxillary Ports

SAE Version (‘S’, ‘K’, or ‘T’ in position 8 of model)

ISO Version (‘M’ in position 8 of model code)



K3VL PUMPS

K3VL45 Through Drive Options

6 - M10

SAE "A" 2 hole
SAE J744-82-2

Depth 17

Dr

B
Tair

ø
8

2
.5

5
+
0

.0
5

0
+
0

.0
2

0

244
30

8

ø106

45
°

SAE "A" 30° Involute Spline
SAE J744-16-4 9T 16/32 DP

SAE "B" 2 hole
SAE J744-101-2

4 - M12
Depth 20

Dr

Tair
B

ø
1

0
1

.6

264

+
0

.0
3

5
0

47
11

ø146

45
°

SAE "BB" 2 hole

SAE "B" 30° Involute Spline
SAE J744-22-2 13T 16/32 DP

4 - M12

SAE J744-101-2

Depth 20

Dr

B
Tair

ø
1

0
1

.6

47
11

+
0

.0
3

5
0

ø146

45
°

Through Drive ‘B’

Through Drive ‘A’

Through Drive ‘BB’

SAE "BB" 30°Involute Spline
SAE J744-25-2 15T 16/32 DP

264



3-2 K3VL45 Installation (cont)

K3VL45 Adaptor Kits

402
317

116

743

742

415

314

116

743743

SAE ‘A’ T/D KITCOVER KIT SAE ‘B’ & ‘BB’ T/D KIT

Part Name Qty Cover Kit
SAE ‘A’
T/D Kit

SAE ‘B’
T/D Kit

SAE ‘BB’
T/D Kit

T/D - 29L8TN 29L4TA 29L4TB 29L4T2

O-Ring 1 Item 743 Item 743 Item 743 Item 743

O-Ring 1 - - Item 742 Item 742

Screw Hex SHC 4 - - Item 415 Item 415

Screw Hex SHC 2 Item 402 - - -

Subplate 1 - - Item 317 Item 317

Cover 1 Item 314 - -

Coupling 1 - Item 116 Item 116 Item 116



K3VL PUMPS

3-3 K3VL80 Installation

K3VL80 with Cut-Off / Load Sense Control & Torque Limit Module
(Clockwise Rotation)

See Torque Limit Detail
and Adjustment

See Max. Flow Adjustment Detail

Adjustment screw for
horsepower setting

Adjustment screw for
differential pressure

See Port
Details

See Port

Adjustment screw
for cut-off pressure

Details

119

164

181

260
217

17.5

17.5

95

ø50L
ø25

A

95
217

26.2 ±0.2

5
2

.4
 ±

0
.2

18
42.9 ±0.3

7
7

.8
 ±

0
.3

9
1

1
8

2

7
9

7
9

ø
1

1
4

1
5

5

3
5

3
5

8
5

8
5

9
99
8

6
2

14

PLPC

PL/PC

Tair
Tair

4
5
°

4
5
° Dr

Dr
Dr

Dr

B

A

Dr

Dr

B

B

A

PL/PC
PL/PC

PL/PC

Note: for counter clockwise rotation, the suction port ‘B’ and the delivery port ‘A’ are reversed.



K3VL PUMPS

3-3 K3VL80 Installation (cont)

K3VL80 Mounting Flange and Shaft Options

ø1
80

ø1
81

SAE "C" 2 hole

SAE J744-127-2

Flange

SAE "C" 30° Involute Spline Shaft

SAE J744-32-4 14T 12/24 DP

ISO 3019/2-125A2HW

12.7

M12

Shaft end – ISO 3019/2-G32N

68

48

19

48

44

M8

25

58

50

SAE "C" Straight Shaft
SAE J744-32-1

4

28

38

43

ø
3

1
.2

2
4

56

0
ø

1
2

7

0

-0
.0

5

-0.5

0
ø

1
2

5
h

8
-0

.0
6

3

0
  
3

5
.2

+
0

.0
0

2

ø
3

1
.7

5
h

7
0 -0

.0
2

5

7
.9

4
+
0

.0
0

2
0

9 +0.5
0

  
3

5
0

1
0

h
9

0

-0
.3

-0
.0

3
6

SAE Type

ø
3

2
k6

+
0

.0
1

8

ISO Type

-0
.0

0
2

SAE ‘C’ Spline Shaft - Option 'S' SAE ‘C’ Straight Shaft - Option 'K'

ISO Straight Shaft - Option 'M'



K3VL PUMPS

3-3 K3VL80 Installation (cont)

K3VL80 Rear Port

8

24

56.5

95

1
8

2

54

90

9
1

239

Adapter tightening torque: 12Nm
(Not attached but supply with pump)

SEE PORT DETAILS

for pump rotating
direction

(UNC screw)

1
7

8

9
8

1
5

5

7
9

Dr

PL/PC

Tair
Dr

A

PL/PC

B

ø25
ø50

52.4 0.3 ± 42.9 0.3 ±

2
6

.2
0

.3
 ± ±

0
.3

7
7

.8
 

119

SEE PORT DETAILS

K3VL80 Porting Details

Des. Port Name Port Size
Tightening

Torque (Nm)
Flange

Threads

A Delivery Port SAE J518C Std pressure (code 61) 1” 57 ⅜-16UNC-2B x 18 mm

B Suction Port SAE J518C Std pressure (code 61) 2” 98 ½-13UNC-2B x 22 mm

A Delivery Port SAE J518C Std pressure (code 61) 1” 57 M10 x 17

B Suction Port SAE J518C Std pressure (code 61) 2” 98 M12 x 20

Des. Port Name Port Size
Tightening

Torque (Nm)

Dr Drain Port (x2) 3/4-16UNF-2B-14.3 (ISO11926-1:1995) 98

PL /PC

Load Sensing Port
Pressure Control Port

7/16-20UNF-2B-14 (ISO11926-1:1995) 12

Tair Air Bleeder Port 7/16-20UNF-2B-14 (ISO11926-1:1995) 12

Dr Drain Port (x2) M22 x 1.5-14.5 DIN 3852 98

PL /PC

Load Sensing Port
Pressure Control Port

M14 x 1.5-12.5 DIN 3852 25

Tair Air Bleeder Port M14 x 1.5-12.5 DIN 3852 25

Main SAE Flanged Ports

UNF Threaded Version (‘S’ in position 9 of model code)

Metric Version (‘M’ in position 9 of model code)

Auxillary Ports

SAE Version (‘S’, ‘K’, or ‘T’ in position 8 of model)

ISO Version (‘M’ in position 8 of model code)



3-3 K3VL80 Installation (cont)

K3VL80 Through Drive Options

6 - M10

SAE J744-82-2
SAE "A" 2 hole

Depth 17

Dr

B
Tair

ø
8

2
.5

5

272

+
0

.0
3

5
0

33

8

ø106

45
°

SAE "B" 2 hole
SAE J744-101-2

4 - M12
Depth 20

SAE "A" 30° Involute Spline
SAE J744-16-4 9T 16/32 DP

Dr

Tair

ø
1

0
1

.6
292

+
0

.0
3

5
0

47

11

ø146

45
°

SAE J744-22-2 13T 16/32 DP
SAE "B" 30° Involute Spline

SAE "BB" 2 hole
SAE J744-101-2

SAE "C" 2 hole
SAE J744-127-2

4 - M12
Depth 20

4 - M16
Depth 24.5

Dr

Tair
B

B

Dr

Tair

ø
1

0
1

.6

ø
1

2
7

+
0

.0
3

5
0

292

+
0

.0
3

5
0

296.5

47
11

53
14

ø146

ø181

45
°

45
°

SAE "BB" 30°Involute Spline
SAE J744-25-4 15T 16/32 DP

SAE "C" 30°Involute Spline 
SAE J744-32-4 14T 12/24 DP

SAE "C" 2 hole
SAE J744-127-4

4 - M12

B

Dr

Tair

ø
1

2
7

297
53

+
0

.0
3

5
0

14

SAE "C" 30°Involute Spline 
SAE J744-33-4 14T 12/24 DP

Through Drive ‘A’

Through Drive ‘BB’

Through Drive ‘B’

Through Drive ‘C’

Through Drive ‘C4’

1
1

4
.5

±
0

.1

114.5±0.1

Depth 25



K3VL PUMPS

3-3 K3VL80 Installation (cont)

K3VL80 Adaptor Kits
402

317

116

743

742

415

314

116

743743

Cover Kit SAE ‘B’, ‘BB’, ‘C’ & ‘C4’ T/D KitSAE ‘A’ T/D Kit

Part Name Qty Cover Kit
SAE ‘A’
T/D Kit

SAE ‘B’
T/D Kit

T/D - 29L8TN 29L8TA 29L8TB

O-Ring 1 Item 743 Item 743 Item 743

O-Ring 1 - - Item 742

Screw Hex SHC 4 - - Item 415

Screw Hex SHC 2 Item 402 - -

Subplate 1 - - Item 317

Cover 1 Item 314 - -

Coupling 1 - Item 116 Item 116

Part Name Qty
SAE ‘BB’
T/D Kit

SAE ‘CC’
T/D Kit

SAE ‘C4’
T/D Kit

T/D - 29L8T2 29L8TC 29L8TC4

O-Ring 1 Item 743 Item 743 Item 743

O-Ring 1 Item 742 Item 742 Item 742

Screw Hex SHC 4 Item 415 Item 415 Item 415

Screw Hex SHC 2 - - -

Subplate 1 Item 317 Item 317 Item 317

Cover 1 - - -

Coupling 1 Item 116 Item 116 Item 116



3-4 K3VL112/140 Installation

K3VL112/140 with Cut-Off / Load Sense Control & Torque Limit
Module (Clockwise Rotation)

 Max Flow Adjustment 

Adjustment screw for
horsepower setting

See Port
Details

Adjustment screw for
differential pressure

See Port
Details

19

ø64

Adjustment screw
for cut-off pressure

ø32

250

31.8 ±0.3

6
6

.7
 ±

0
.3

106.5

113.3 113.3

103103

98.5
23

106.5

250

50.8 ±0.3

8
8

.9
 ±

0
.3

2
2

4

ø
1

4
0

3
0

2
0

0

3
0

1
2

5

1
2

4

1
0

0
1

0
0

7
7

152

188
PL/PC

Dr

PL/PC

BTair

ADr

L

PL/PCPL/PC

Tair

Dr

Tair
Dr

Dr
A

Dr

296

Note: for counter clockwise rotation, the suction port ‘B’ and the delivery port ‘A’ are reversed.



K3VL PUMPS

3-4 K3VL112/140 Installation (cont)

K3VL112/140 (SAE D 4 BOLT) Mounting Flange & Shaft Options

Flange
ISO 3019/2-180B4HW

161.6

1
6

1
.6

4-ø20 through SAE "D" 4 hole
SAE J744-152-4

SAE J744-44-4 13T 8/16 DP

7/16-14UNC-2B

SAE "D" 30° Involute Spline Shaft

ø
1

5
2

.4

ø
4

4
.4

4
7

Shaft end – ISO 3019/2-G45N

4
8

.5

0 -0
.0

5

0
ø

1
8

0
h

8

4
9

.3
 ±

0
.1

3

-0
.0

6
3

SAE "D" Straight Shaft

SAE J744-44-1

1
1

.1
1

+
0

.0
3

0
+
0

.0
1

5

0
ø

4
4

.4
5

  
  

ø
4

5

-0
.0

2
5

+
0

.0
1

8
+
0

.0
0

2

  
  

  
1

4
0

ø12.7

75

+
0

.0
4

3

9

92

4-ø18 through

67

3 75

45

36

M16

60

67

63

28

38

0
-0.5

ø224

4
5

°

SAE ‘D’ Type ISO Type

SAE ‘D’ Spline Shaft - Option 'S' SAE ‘D’ Straight Shaft - Option 'K'

ISO Straight Shaft - Option ‘M’

0 -0
.0

1
6



3-4 K3VL112/140 Installation (cont)

K3VL112/140 Rear Port

K3VL112/140 Porting Details

Des. Port Name Port Size
Tightening

Torque (Nm)
Flange

Threads

A Delivery Port SAE J518C High pressure (code 62) 1 ¼” 157 ½-13UNC-2B x 22 mm

B Suction Port SAE J518C Std pressure (code 61) 2 ½” 98 ½-13UNC-2B x 22 mm

A Delivery Port SAE J518C high pressure (code 62) 1 ¼” 157 M14 x 23 *

B Suction Port SAE J518C Std pressure (code 61) 2 ½” 98 M12 x 22

Des. Port Name Port Size
Tightening

Torque (Nm)

Dr Drain Port (x2) 1 1/16-12UN-2B-19 (ISO11926-1:1995) 170

PL /PC

Load Sensing Port
Pressure Control Port

7/16-20UNF-2B-14 (ISO11926-1:1995) 12

Tair* Air Bleeder Port 7/16-20UNF-2B-14 (ISO11926-1:1995) 12

Dr Drain Port (x2) M27 x 2-16.5 DIN 3852 167

PL /PC

Load Sensing Port
Pressure Control Port

M14 x 1.5-12.5 DIN 3852 25

Tair Air Bleeder Port M14 x 1.5-12.5 DIN 3852 25

Main SAE Flanged Ports

UNF Threaded Version (‘S’ in position 9 of model code)

Metric Version (‘M’ in position 9 of model code)

Auxillary Ports

SAE Version (‘S’, ‘K’, ‘C’, ‘R’, ‘U’, ‘X’ or ‘T’ in position 8 of model)

ISO Version (‘M’ in position 8 of model code)

* Note: ISO 6162 quotes M12

Dr

See Port
 Details

103.5106.5

62 55

ø32

10

30

124

pump rotating direction

(Not attached but supply with pump)

152

ø64

Dr
Tair

9
5

1
2

5

2
2

0

1
9

7
.5

280

8
8

.9
±

0
.3

Adapter tightening torque:12N.m

3
1

.8
±

0
.3

66.7±0.350.8±0.3

PL/PC

See Port
 Details



3-4 K3VL112/140 Installation (cont)

K3VL112/140 (2 Bolt) Installation

1
7

.5
8

1

280
136.5

1
7

.5

3
0

181

31.8±0.3

6
6

.7
±

0
.3

113.3113.3
103103

1
5

7
.5

1
3

4
.5

124

ø3
2

91

See Port Details

(UNC screw)

A

326
280

136.5
48
20

8
8

.9
±

0
.3

50.8±0.3

10
30

124

2
0

4
1

9
7

.5

2
0

8
1

2
5

3
0

ø64

2
2

4

152

100100

AB
B

Tair

See Port Details

for pump rotating

218

direction

B

A

PL/PC

Dr

Dr

Dr

PL/PC

Dr

Dr

Dr
Dr

Dr

Tair Tair

PL(PC)

PL/PC

K3VL140

PL/PC



3-4 K3VL112/140 Installation (cont)

K3VL112/140 Mounting Flange (2 Bolt) and Shaft Options

SAE "C" 2 hole

SAE J744-127-2

56

48

ø
3

1
.2

2
4  3

5
.2

0

0

SAE "C" 30° Involute Spline Shaft

SAE J744-32-4 14T 12/24 DP

-0
.3

ø
3

1
.7

5
-0

.0
2

5

+
0

.0
2

2
7

.9
4

0

19

M8

44

48

SAE "C" Straight Shaft

SAE J744-32-1

25

43

12.7
0
-0.5

ø
1

2
 7

0 -0
.0

5

ø181(17.5-2)

62

48

ø
3

7
.5

7
4

54

SAE J744-38-1

9
.5

3

4
2

.9
2

54

ø
3

8
.1

50

28

SAE "CC" 30°

Involute Spline Shaft

SAE J744-38-4

17T 12/24 DP 3 8

SAE ‘C’ Type

SAE ‘C’ Spline Shaft - Option 'C'’ & ‘R’

SAE ‘CC’ Straight Shaft - Option ‘Y’

SAE ‘C’ Straight Shaft - Option 'X'

SAE ‘CC’ Spline Shaft - Option 'W’ & ’T'

7/16-14UNC-2B

SAE "CC" Straight Shaft

0 -0
.1

2
7

0 -0
.1

2
7



K3VL PUMPS

3-4 K3VL112/140 Installation (cont)

K3VL112/140 Through Drive Options

337.5

ø
1

2
7

0

SAE "C4" 30° Involute Spline

+
0

.0
3

5

6 - M16
Depth 30

SAE "C" 2 hole
SAE J744-127-2

45°

ø181

B

Tair Dr

14

58

Through Drive ‘C’
Through Drive "C"

332.5

ø
1

0
1

.6
0

+
0

.0
3

5

6 - M12

SAE "BB" 30° Involute Spline
SAE J744-25-4 15T  DP

Depth 25

SAE "BB" 2 hole

B

SAE J744-101-2

Tair Dr

11

53

Through Drive ‘BB’

45°

ø146

Through Drive "BB"

SAE "B" 30° Involute Spline

332.5

ø
1

0
1

.6

SAE J744-22-4 13T  DP

+
0

.0
3

5
0

6 - M12

Depth 25

SAE "B" 2 hole

45°

SAE J744-101-2

ø146

B

DrTair

11

53

Through Drive ‘B’
Through Drive "B"

307.5

ø
8

2
.5

5
0

+
0

.0
3

5

8 - M10
Depth 17

SAE "A" 30° Involute Spline

SAE J744-82-2
SAE "A" 2 hole

45°

ø106

B

DrTair

8

31

Through

Through Drive ‘A’

 Drive "A"

SA

SA



3-4 K3VL112/140 Installation (cont)

K3VL112/140 Through Drive Options

350.5

ø
1

5
2

.4

SAE "D" 30° Involute Spline

1
6

1
.6

±
0

.2

0
+
0

.0
3

5

161.6 ±0.2

4 - M16 Depth 43

SAE "D" 4 hole

B

SAE J744-152-4

DrTair

15

71

Through Drive ‘CC’
Through Drive "CC"

337.5

ø
1

2
7

0
+
0

.0
3

5

6 - M16

SAE "CC" 30° Involute Spline
SA

Depth 30

SAE "CC" 2 hole
SAE J744-127-2

45°

ø181

B

DrTair

14

59

SAE "C4" 30° Involute Spline

337.5

ø
1

2
7

+
0

.0
3

5
0

4 - M12

SAE "C4" 2 hole
SAE J744-127-4

B

DrTair

14

59

Through Drive ‘C4’

Through Drive ‘D’

Through Drive "D"

SAE J744-38-4 14T 12/24 DP 

1
1

4
.5

±
0

.2

114.5 ±0.2

Depth 30



K3VL PUMPS

3-4 K3VL112/140 Installation (cont)

K3VL112/140 Adaptor Kits

314

743

116

743

116

743

742

415

317 317 317 317

116

743

742

415

116

743

742

415

116

743

742

415

116

743

742

415

CovCOVER KIT

SSAE ‘BB’ T/D KI SAE "C" & “SAE ‘C’ & ‘C4’ T/D K SAE "CSAE ‘CC’ T/D KIT AE "DSSAE ‘D’ T/D KIT

SAE "B" T/D KiSAE ‘B’ T/D KITSAE "ASAE ‘A’ T/D KIT

T IT

440022 331177

Part Name Qty Cover Kit
SAE ‘A’
T/D Kit

SAE ‘B’
T/D Kit

SAE ‘BB’
T/D Kit

T/D - 29L8TN 29LHTA 29LHTB 29LHT2

O-Ring 1 Item 743 Item 743 Item 743 Item 743

O-Ring 1 - - Item 742 Item 742

Screw Hex SHC 4 - - Item 415 Item 415

Screw Hex SHC 2 Item 402 - - -

Subplate 1 - - Item 317 Item 317

Cover 1 Item 314 - - -

Coupling 1 - Item 116 Item 116 Item 116

Part Name Qty
SAE ‘C’
T/D Kit

SAE ‘C4’
T/D Kit

SAE ‘CC’
T/D Kit

SAE ‘D’
T/D Kit

T/D - 29LHTC 29LHTC4 29LHT3 29LHTD

O-Ring 1 Item 743 Item 743 Item 743 Item 743

O-Ring 1 Item 742 Item 742 Item 742 Item 742

Screw Hex SHC 4 Item 415 Item 415 Item 415 Item 415

Screw Hex SHC 2 - - - -

Subplate 1 Item 317 Item 317 Item 317 Item 317

Cover 1 - - - -

Coupling 1 Item 116 Item 116 Item 116 Item 116



3-5 K3VL200 Installation

K3VL200 with Cut-Off / Load Sense Control & Torque Limit Module
(Clockwise Rotation)

Dr

Dr

345

1
1

5
1

1
5

221

162
30

10

1
3

4

ø76

2
1

9
2

1
2

.52
3

9

pump rotating direction

1
4

0

1
0

6
.4

±
0

.3

61.9 ±0.3

292
122

26
17.5

7
9

.4
±

0
.3

ø38

36.5 ±0.3

292

5
3

122

2
6

4
.5

2
2

4
.5

264.5
123.3123.3

224.5

134
101

1
7

2
.5

1
4

9
.5

Dr

Dr

A

B

B

Dr

A

Tair

SEE PORT
 DETAILS

B A

Tair

Dr

1.6

K3VL200

K
3

V
L
2

0
0

PL/PC

PL/PCPL/PC

PL/PC

PL/PC

SEE PORT
 DETAILS



K3VL PUMPS

3-5 K3VL200 Installation (cont)

K3VL200 Mounting Flange and Shaft Options

224.5

2
2

4
.5

4-ø22 through

67

60

75

Ø
4

4
.4

4
7

SAE "D" 30° Involute Spline Shaft
SAE J744-44-4 13T 8/16 DP

80

68

Ø
5

0
.1

88

SAE J744-50-4 15T 8/16 DP
SAE "F" 30° Involute Spline Shaft

SAE Type

SAE ‘D’ Spline Shaft - Option ‘S’

SAE ‘F’ Spline Shaft - Option ‘F’

7/16-14UNC-2B

4
9

.3
 ±

0
.1

3

SAE "D" Straight Shaft

SAE J744-44-1

1
1

.1
1

+
0

.0
3

0
+
0

.0
1

5

0
ø

4
4

.4
5

-0
.0

2
5 67

63

28

38

SAE ‘D’ Straight Shaft - Option 'K'

0 -0
.1

2
7

0 -0
.1

2
7



3-5 K3VL200 Installation (cont)

K3VL200 Through Drive Options

8-M16 
Depth 25

SAE “A” 30 deg Involute Spline

SAE “B” 30 deg Involute Spline

SAE “BB” 30 deg Involute Spline

B

Tair

SAE “C” 2 hole
SAE J744-127-2

B

SAE “C” 30 deg Involute Spline

Tair

SAE “B” 2 hole

B

SAE J744-101-2

Tair

SAE “B” 2 hole
SAE J744-101-2

B

Tair

384

SAE “A” 2 hole
SAE J744-82-2

ø181

4
5

8
59

384
1100..555   88 .55

ø146

4
5

4
5

384
856

ø146

4
5

4
5

      8-M12 
     Depth 25

365

ø
8

2
.5

5
 0

ø
1

0
1

.6
 0

+
0

.0
3

5

+
0

.0
3

5

ø
1

0
1

.6
 0

ø
1

2
7

 0

+
0

.0
3

5

+
0

.0
3

5

10
39

106

4-M10 
Depth 20

K3VL200

K3VL200

K3VL200

K3VL200

Dr

Dr

Dr

Dr

Through Drive ‘A’

Through Drive ‘B’

Through Drive ‘BB’

Through Drive ‘C’

1
0

6
      8-M12 
     Depth 25



K3VL PUMPS

114.5±0.2

1
1

4
.5

±
0

.2

SAE “C” 30 deg Involute Spline

B

SAE “D” 30 deg Involute Spline

B

Tair

Tair

SAE “C” 4 hole
SAE J744-127-4

SAE “D” 4 hole
SAE J744-152-4

SAE “E” 4 hole
SAE J744-165-4

B

Tair

SAE “C” 2 hole

B

SAE J744-127-2

Tair

397
8

75 4-M20 depth 38 

2
2

4
.5

 ±
0

.2

224.5 ±0.2

384

ø
1

2
7

 0
+
0

.0
3

5

ø
1

2
7

 0
ø

1
6

5
.1

 0

+
0

.0
3

5

ø
1

5
2

.4
  
0

+
0

.0
4

0

14

+
0

.0
4

0

58

384

4-M12 
Depth 25

14
58

397
875

K3VL200

K3VL200

4-M16 Depth 38

K3VL200

SAE “D” 30 deg Involute Spline

K3VL200

Dr

Dr

Dr

Dr

SAE “CC” 30 deg Involute Spline

Through Drive ‘CC’

Through Drive ‘E’

Through Drive ‘C4’

Through Drive ‘D’

8-M16 
Depth 25

ø181

4
5

161.6 ±0.2

1
6

1
.6

 ±
0

.2

SAE J744-44-4 13T 8/16 DP

SAE J744-44-4 13T 8/16 DP

3-5 K3VL200 Installation (cont)

K3VL200 Through DriveOptions



3-5 K3VL200 Installation (cont)

Des. Port Name Port Size
Tightening

Torque (Nm)
Flange

Threads

A Delivery Port SAE J518C High pressure (code 62) 1½” 235 5/8 -11UNC-2B x 25mm

B Suction Port SAE J518C Std pressure (code 61) 3” 235 5/8 -11UNC-2B x 25mm

B
K3VL200H Suction 

Port
SAE J518C Std pressure (code 61) 3 1/2” 235 5/8 -11UNC-2B x 25mm

A Delivery Port SAE J518C High pressure (code 62) 1½” 235 M16 x 24

B Suction Port SAE J518C Std pressure (code 61) 3” 235 M16 x 24

B
K3VL200H Suction

Port
SAE J518C Std pressure (code 61) 3 1/2” 235 M16 x 26

Des. Port Name Port Size
Tightening

Torque (Nm)

Dr Drain Port (x2) 1 1/16 -12UN-2B-19 (ISO11926-1:1995) 167

PL /PC

Load Sensing Port
Pressure Control Port

7/16-20UNF-2B-14 (ISO11926-1:1995) 12

Tair Air Bleeder Port 7/16-20UNF-2B-14 (ISO11926-1:1995) 12

Main SAE Flanged Ports

UNC Threaded Version (‘S’ in position 9 of model code)

Metric Version (‘M’ in position 9 of model code)

Auxillary Ports

SAE Version (‘S’, ‘K’ or “F) in position 8 of model)



K3VL PUMPS

3-5 K3VL200 Installation (cont)

K3VL200 Through Drive Kits

402

314

743

SAE “A” T/D KitCOVER Kit SAE “B” T/D Kit SAE “BB” T/D Kit

SAE “C” & “C4” T/D Kit SAE “CC” T/D Kit SAE “D” T/D Kit SAE “E” T/D Kit

Part Name Qty SAE ‘A’ SAE ‘B’ SAE ‘BB’ SAE ‘C’

T/D Kit - 29LKTA 29LKTB 29LKT2 29LKTC

Coupling K3VL200 1 Item 116 Item 116 Item 116 Item 116

Sub Plate K3VL200 1 Item 317 Item 317 Item 317 Item 317

SHCS 8 Item 402 Item 415 Item 415 Item 415

O-Ring 1 Item 743 Item 743 Item 743 Item 743

O-Ring 1 Item 742 Item 742 Item 742 Item 742

Part Name Qty SAE ‘C4’ SAE ‘CC’ SAE ‘D’ SAE ‘E’

T/D Kit - 29LKTC4 29LKT3 29LKTD 29LKTE

Coupling K3VL200 1 Item 116 Item 116 Item 116 Item 116

Sub Plate K3VL200 1 Item 317 Item 317 Item 317 Item 317

SHCS 8 Item 415 Item 415 Item 415 Item 415

O-Ring 1 Item 743 Item 743 Item 743 Item 743

O-Ring 1 Item 742 Item 742 Item 742 Item 742



3-6 K3VL200H Installation

Adjustment screw for cut-off pressure
Approx. pressure change per revolution 
of screw : 10MPa

Adjustment screw for differential pressure
Approx. pressure change per revolution 
of screw : 1.4MPa

2-M8 the thread to remove seal cover.
(The position of thread might be  different.)

1
7

2
.5

  SEE K3VL200 
 PORT DETAILS

1
8

7
.5

134

101

224.5

264.5

123.3 123.3

1
4

8
.5

2
6

4
.5

2
2

4
.5

5
3

Dr

B

A

Dr

Dr

Tair

7
9

.4
 ±

0
.2

36.5 ±0.2 122

4-ø22 Through

Recommend
Tightening torque : 435.m
for M20 of strength class 10.9 of JIS
Recommend to use washers

276

PL PC

ø38

B
ø90

SAE ‘E’  : 4 hole
SAE J744-164-4

Approx. displacement change per
revolution of screw : 15.3cm3

26

 SEE K3VL200 
 PORT DETAILS

Lock-nut tightening torque=235N.m

122

424

294

6
9

.9
 ±

0
.2

120.7 ±0.2

1
4

0

1
1

9

6
.5

5
3ø
1

6
5

.1
   0 -0

.0
5

16 
  0
-0.05

Dr

Dr A

Dr

N Type Through Drive



K3VL PUMPS

3-6 K3VL200H Installation (cont)

SAE ‘B’  : 2 hole
SAE J744-101-2

SAE ‘B’ 30deg Involute Spline
SAE J744-22-4 13T 16/32 DP

ø146 ±0.2

8-M12 Depth 25

476

11.7

Tair

60

+
0

.0
4

0
  
ø

1
0

1
.6

 

SAE ‘B’  : 2 hole

SAE ‘BB’ 30deg Involute Spline
SAE J744-25-4 15T 16/32 DP

SAE J744-101-2

ø146 ±0.2

8-M12 Depth 25

476

Tair

11.7

60

+
0

.0
4

  
+
ø

1
0

1
.6

   
0

4
5

0
1

 ±
0

9

4
5

0  ±
10

9

4
5

0 ±
1

0
9

4
5

0  ±
10

9

Dr

Dr

SAE 'B-B' Throughdrive

SAE 'B' Throughdrive

SAE 'A' Throughdrive

Please contact KPM UK for dimensions. l

Note: For K3VL200H shaft options please refer to page 62.



3-6 K3VL200H Installation (cont)

SAE ‘C’ 30deg Involute Spline
SAE J744-32-4 14T 12/24 DP

114.5 ±0.2
4-M12 Depth 25

ø181 ±0.2

2-M16 Depth 25

SAE ‘C’  : 2 hole/4 hole
SAE J744-127-2/J744-127-4

476

Tair

11.7

63

1
1

4
.5

 ±
0

.2

+
0

.0
4

0
  
 ø

1
2

7
 

  

SAE ‘CC’ 30deg Involute Spline
SAE J744-32-4 17T 12/24 DP

114.5 ±0.2

ø181 ±0.2

4-M12 Depth 25

2-M16 Depth 25

SAE ‘C’  : 2 hole/4 hole
SAE J744-127-2/J744-127-4

476

Tair

11.7

63

1
1

4
.5

 ±
0

.2

+
0

.0
4

  
  
ø

1
2

7
  

 0

Dr

Dr

SAE 'C-C' Throughdrive

SAE 'C' Throughdrive

SAE 'C4' Throughdrive -Please contact KPM UK for dimensions. 

l

Shaft Options 224.5

2
2

4
.5

4-ø22 through

67

60

75

Ø
4

4
.4

4
7

SAE "D" 30° Involute Spline Shaft
SAE J744-44-4 13T 8/16 DP

80

68

Ø
5

0
.1

88

SAE J744-50-4 15T 8/16 DP
SAE "F" 30° Involute Spline Shaft

SAE Type

SAE ‘D’ Spline Shaft - Option ‘S’

SAE ‘F’ Spline Shaft - Option ‘F’

7/16-14UNC-2B

4
9

.3
 ±

0
.1

3

SAE "D" Straight Shaft

SAE J744-44-1

1
1

.1
1

+
0

.0
3

0
+
0

.0
1

5

0
ø

4
4

.4
5

-0
.0

2
5 67

63

28

38

SAE ‘D’ Straight Shaft - Option 'K'

0 -0
.1

2
7

0 -0
.1

2
7

224.5

2
2

4
.5

4-ø22 through

67

60

75

Ø
4

4
.4

4
7

SAE "D" 30° Involute Spline Shaft
SAE J744-44-4 13T 8/16 DP

80

68

Ø
5

0
.1

88

SAE J744-50-4 15T 8/16 DP
SAE "F" 30° Involute Spline Shaft

SAE Type

SAE ‘D’ Spline Shaft - Option ‘S’

SAE ‘F’ Spline Shaft - Option ‘F’

7/16-14UNC-2B

4
9

.3
 ±

0
.1

3

SAE "D" Straight Shaft

SAE J744-44-1

1
1

.1
1

+
0

.0
3

0
+
0

.0
1

5

0
ø

4
4

.4
5

-0
.0

2
5 67

63

28

38

SAE ‘D’ Straight Shaft - Option 'K'

0 -0
.1

2
7

0 -0
.1

2
7



K3VL PUMPS

3-6 K3VL200H Installation (cont)

Dr

SAE ‘D’  : 4 hole
SAE J744-152-4

161.6 ±0.24-M16 Depth 38

SAE ‘D’ 30deg Involute Spline
SAE J744-47-4 13T 8/16 DP489

11.7

Tair

79

1
6

1
.6

 ±
0

.2

+
0

.0
4

  
 ø

1
5

2
.4

 0

SAE ‘E’  : 4 hole
SAE J744-165-4

SAE ‘D’ 30deg Involute Spline
SAE J744-47-4 13T 8/16 DP

224.5 ±0.2
4-M20 Depth 40

2
2

4
.5

 ±
0

.2

489

11.7

79

+
0

.0
4

  
 ø

1
6

5
.1

  0Tair

Dr

SAE 'E' Throughdrive

SAE ‘D’ Throughdrive

Part Name Qty SAE ‘A’ SAE ‘B’ SAE ‘BB’ SAE ‘C’

Coupling K3VL200 1 Item 116 Item 116 Item 116 Item 116

Sub Plate K3VL200 1 Item 317 Item 317 Item 317 Item 317

SHCS 8 Item 407 Item 407 Item 407 Item 407

O-Ring 1 Item 743 Item 743 Item 743 Item 743

O-Ring 1 Item 742 Item 742 Item 742 Item 742

Part Name Qty SAE ‘C4’ SAE ‘CC’ SAE ‘D’ SAE ‘E’

Coupling K3VL200 1 Item 116 Item 116 Item 116 Item 116

Sub Plate K3VL200 1 Item 317 Item 317 Item 317 Item 317

SHCS 8 Item 407 Item 407 Item 407 Item 407

O-Ring 1 Item 743 Item 743 Item 743 Item 743

O-Ring 1 Item 742 Item 742 Item 742 Item 742



3-7 Electrical & Hydraulic Displacement Control 
        Installation (Type Q0, E*)

Pump Size A B C D E F G

K3VL45 21 52 90 187 157 226 210

K3VL80 25 59 83 202 172 233 217

K3VL112/140 38 64 78 244 214 247 231

K3VL200(H) 57 61 80 258 229 257 249

Installation Dimensions (mm)



K3VL PUMPS

3-8 Unloading & Proportional Pressure Control 
        Installation

Pump Size A B

K3VL45 169 155

K3VL80 169 166

K3VL112/140 202 190

K3VL200(H) 212 205

Pump Size A B

K3VL45 179 233

K3VL80 179 244

K3VL112/140 212 280

K3VL200(H) 222 295

Unloading valve module (Type N, M) Proportional pressure module (*V)

A : Distance between the centre line of the pump and the top of the bolt head for the cut off regulator.

B : Distance between the centre line of the pump and top of the solenoid valve.

Unloading valve module (Type N, M)

Proportional pressure module (*V)

A
B

A
B



K3VL PUMPS

3-9 Power Shift Control Installation

Pump Size A B C

K3VL80 182 59 5

K3VL112/140 224 59
4B 33.7

2B 63.7

K3VL200(H) 239 59 51.5

/2-** Hydraulic Power Shift /3-** Electronic Power Shift

Pump Size A B C

K3VL80 193 80 3.5

K3VL112/140 235 80
4B 18.5

2B 48.5

K3VL200(H) 249.5 80 36

C

B (/3-** )

A

B (/2-**)



K3VL PUMPS

3-10 Pump Adjustments
Max displacement
adjustment

Pump K3VL45 K3VL80 K3VL112 K3VL140 K3VL200(H)

Adj. screw Allen key size mm 8 8 10 10 10

Displacement change
per turn

cm3 4.9 6.0 11.5 12.0 15.3

Adjustable range of 
displacement

cm3 16-45 35-80 56-112 70-140 100-200

Length of adjustment 
range (L)

mm 0.5-12.1 0.5-15.0 3.8-16 1.0-16 8.9-25.3

Lock nut size mm 24 24 30 30 30

Lock nut tightening
torque

Nm 128 128 235 235 235

Regulator Adjustment Pump
K3VL28/45

/80
K3VL112
/140/200

Adjustment screw Allen key size mm 4 4

Pressure cut off change per turn bar 80 100

Differential pressure change per 
turn

bar 13 14

Lock nut size (across flats) mm 8 8

Lock nut tightening
torque

Nm 16 16

Outer spring adjuster screw: external hex mm 27

Outer spring lock nut size mm 41

Outer spring lock nut tightening torque Nm 102

Inner spring adjuster screw: internal hex mm 4

Inner spring lock nut size mm 13

Inner spring lock nut tightening torque Nm 16

QQ  mmaaxx  
aaddjjuusstteerr

LLoocckk  nnuutt

LLoocckk  nnuutt

PPrreessssuurree  ccuutt  ooffff
aaddjjuusstteerr  ssccrreeww

DDiiffffeerreennttiiaall  pprreessssuurree
aaddjjuusstteerr  ssccrreeww

uutteerr  sspprriinngg  
lloo   nnuutt

uutteerr  sspprriinngg  
aaddjjuusstteerr  ss rreeww

nnnneerr  sspprriinngg  
aaddjjuusstteerr  ss rreeww
nnnneerr  sspprriinngg  
lloo   nnuutt

PPrreessssuurree

FFll
oo
ww

aaddjjuusstteemmeenntt  ooff  
eexxtteerrnnaall  sspprriinngg

aaddjjuusstteemmeenntt  ooff  
eexxtteerrnnaall  sspprriinngg  ++  

iinnnneerr  sspprriinngg

Torque limiter adjustments

Torque limiter module Torque limiter curve

*1 Clockwise rotation of a screw produces an increase of the adjustment




